
Solving Rational Equation

Example: Find the solutions of:
x + 6
x + 2 = x

To solve a Rational Equation, we want to clear the denominator (x + 2)
Multiplying both sides by (x + 2) gives:
Finally, we need solve the quadratic equation: x + 6 = x2 + 2x
To start, we get 0 on one side by Subtracting x + 6 from both sides:

We can solve this quad equation 0 = x2 + x − 6 using the quad formula
We find the solutions: x = 2, −3
x+6
x+2 is defined at both x = 2, −3, because it is only undefined at x = −2

Conclusion: The solutions to x + 6
x + 2 = x are: x = 2, −3
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